Conics & Parameters
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Equation of Tangent and Normal
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tangent: normal:
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Using Parametric Coordinates;
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For ellipse alz+b2=1
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e.g. (I) Find the equation of the tangent to the eIIipsei(—6+ ye =1

at the point (Z_Zﬁj
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(1) Find the equation of the normal to the ellipse x = 2cosé, y =sin @

at the point ¢ :%
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(iif) Show thatif y = mx+k is a tangent to the ellipse
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(1)* :a®m?sin® 6+ 2abmsin&cos@ +b*cos’ 0 =0  (+)
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Chord of Contact
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From an external point T, two tangents may be drawn.
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which must be the line PQ 1.e. chord of contact

Patel: Exercise 6C; 1, 3, 11, 15, 18a

Cambridge: Exercise 3C; 1, 3, 6, 8, 9, 10a, 1lac, 12,
13a, 14b, 16,17, 18, 19,20




